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Section - 1

English

Q. 01 to Q. 03 Instruction -
Read the passage and answer the questions.

Sushruta was indeed a bright student of veterinary medicine. His
teacher, Shalihotra, once decided to test him.

He asked Sushruta what all he would need to perform a surgery on
a wonderful horse. Sushruta, very quickly listed down all the instruments
and the medicines that would be needed.

“Three things are missing.” Shalihotra said.

Confused, Sushruta looked at him.

“I will give you a week to find them.” Shalihotra consoled.

Curious to find out what those three things were, Sushruta observed
his teacher carefully for the next one week.

Before operating the horse, Shalihotra observed every part of the
horse and then Sushruta found the first missing thing!

01. Choose the correct alternative.
Sushruta was a
(1) veterinary doctor (2) bright student
(3) teacher (4) farmer

02. Choose the correct alternative.
What task Shalihotra gave to Sushruta
(1) To perform a surgery on a wonderful horse
(2) To find out three things
(3) To find out instruments
(4) To find out different medicines

SPACE FOR ROUGH WORK
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03.

04.

0sS.

06.

07.

Choose the correct alternative.
How long a period did Shalihotra allow to find the missing things?
(1) One day (2) Two weeks (3) A week (4) Month

Choose the two correct options for the underlined word from the given
alternatives.

This year there is a great loss for India that Popular singer Lata Mangeshkar
passed away.

(1) Famous (2) Not known
(3) Strong (4) Very well-known

Choose the correct alternative of Active voice for the following sentence.
My father was given a jeep by the government.
(1) The government give a jeep to my father.
(2) The government gave a jeep to my father.
(3) The government given a jeep to my father.

(4) The government will give a jeep to my father.

Choose the correct alternative from the following to complete puzzle.
(Nje | |d ]I Je |

t ] Js [t |
1) o @ N 3) » ) e

Choose correct alternative to frame a meaningful question.

People / did / where / him / meet
(1) Where did people meet him? (2) Did people meet him where?
(3) Where did him people meet? (4) People meet him where did.

SPACE FOR ROUGH WORK
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08. Choose the correct alternative for indirect speech.
“We are orphans”, they answered.
(1) They answered they were orphans.
(2) They answered that they were orphans.
(3) They answered that they are orphans
(4) They answered that they are not orphans.

09. Read the riddle and choose correct alternative.
What is the full of holes, but still holds water?
(1) Glass (2) Plastic (3) Iron (4) Sponge

10. The verb form of addition is .
(1) Add (2) Added (3) Additional (4) Addition

11.  Choose the correct expression.
She died of hunger.
(1) Hey! (2) Bravo! (3) Oh! (4) Alas!

Read the following news and answer the questions by choosing correct option.

More Dinosaur Fossils found In Kutch
Ahmedabad, Feb 15, 2016 :

A team of Indian and German scientists working near Bhuj in the
Kutch region of Gujarat had found a big fossil of a dinosaur in a hill
in Lodai village. On Saturday, they found a few more fossils. The new
fossils include skull, jaw and some teeth of dinosaur. Their work of
excavation or digging very very carefully still goes on.

12. Name the village where a big fossil of a dianosaur found
(1) Kutch (2) Gujarat (3) India (4) Lodai

SPACE FOR ROUGH WORK
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13.  Find the number of nouns in the following sentence. sisVs

Avinash, Yash, Mona and Om yesterday came to Pune. 5
(1) 2 @ 5 (3) 3 @ 4
DI
14. Choose the correct pair of homophones to get meaningful sentence. S
BIQIO
He me a mail and told there is a gift parcel of bottles. Vet
PO
(1) sent, scent (2) sent, saint (3) send, sand (4) get, gate ;EE;
15. Read the following and find out the number of imperative sentences in it. :ﬁé
DIQIO
Come here ;Ei

What happened?

Tell me all

I will not punish you

Write all on this paper.
() 2 2) 4 3 3 @ 1

16. Choose two Correct options.
Avoid too much use of mobile phones and
(1) Save home (2) Save your time
(3) Save earth (4) Be safe from eye problems

Read given advertisement and choose correct option.
P.V. J's Urja School, Nanded
Wanted
Post - Science Teacher
Qualification - B.Sc. , B.Ed.
Apply before 15% June 2023
Secretary

17. The advertisement i1s given for the post of .
(1) Principal (2) Clerk (3) Teacher (4) Peon

SPACE FOR ROUGH WORK
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18. Last date of application is .
(1) 15% April 2023 2) 15 March 2023
(3) 15% June 2022 (4) 15% June 2023

19. Complete the sentence by using the correct form of verb to get Simple Future

Tense.
You good marks.
(1) will get (2) got (3) are getting (4) is get

Q. 20 & Q. 21 Instructions -
Read the passage and choose the correct alternative.

The famous physics professor Stephen Hawking has warned that
mankind is facing the most dangerous time in its history today. He
said that the world today is facing huge challenges like climate change,
overpopulation, epidemic diseases. “We have the technology to destroy
the planet on which we live and have not yet developed the ability to
escape it. Perhaps in a few hundred years from now, we will have built
colonies amid the stars, but right now, we have only one planet and we
need to work together to protect it."

20. We have the technology to destroy the , according to Hawking.
(1) Aircrafts (2) Space (3) Planet (4) Tank

21.  Choose incorrect alternative to complete the following diagram.
World's Todays Challenges

l l l l

(1) Overpopulation (2) Epidemic (3) Robbery (4) Climate
diseases Change

SPACE FOR ROUGH WORK
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22. Choose the correct alternative.

It is 5 to 11 o'clock, the school bell will ring after twenty minutes that means

at o'clock.
(1) quarter past Eleven (2) quarter to Eleven
(3) quarter past Twelve (4) 11 o'clock

23.  Given below are words. Choose correct alternative which is of positive degree.

Shakuntal good Sanskrit

(1) Shakuntal is better than any other drama in Sanskrit.
(2) Shakuntal is the best drama in Sanskrit.

(3) No other drama in Sanskrit is as good as Shakuntal.
(4) Shakuntal is the best than any other drama in Sanskrit.

24.  Choose the correct alternative to explain the underlined phrase.

Akash was so active and enthusiastic, he always did his homework

in a jiffy.
(1) Very Soon (2) Hurriedly
(3) Neatly (4) Slowly

25. Choose the correct alternative for the underlined word.

When I met my grandmother after long time, we recollect my
childhood moments.

(1) Present Situation (2) Future Plans

(3) Every Activity (4) Remembering the past

SPACE FOR ROUGH WORK
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UVWXY

28.

29.

30.

26.

27.

SECTION - II

INTELLIGENCE TEST

Q. 26 to Q. 30 Direction :

In the given series find the correct term to replace the question mark.

43, 31, 28, 12, 10, ?

4 7

(1) 10 2) 9 (3) 8
Question Figures :
m - O L]

()

] . - =y
o | & O o m ©
® ] A o
(D (2) 3) 4)

AA-OO |, DAOCA |, «oAAOD ,
(1) OOA-A (2) OOAA& (3) OOA6A  (4) OAOAw
1, 7, 34, 137, 410, 821, ?
(1) 1641 (2) 820 (3) 1230 (4) 1440
XBW, RGQ, LLK, ?
(1) FQD (2) ESF (3) FQE (4) GQE

SPACE FOR ROUGH WORK
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ABCDE FGHIIJ KLMNO PQRST

UVWXY

i - 11
neds

©3 26 00T 30 T TSR TR :

NS BRAFCDYED @%&3@;{033 ST, 2TT TWE odeery, TOAIRFOI SORD.

@

26. 43, 31, 28, 12, 107 ?

(1) 10 2) 9 3) 8 @) 7
27. I3 &FIRD
m - O ]
® 4 O ?
O O | W o ° °
NUZT SFIN
] D - =y
o | ° O o m @
® ] A o
(1) 2 3) “
28. AA6OO , DAOGA , oAAOO,
(1) OOAA (2) DOAAo  (3) HOOAGA @) OADAG
29. 1, 7, 34, 137, 410, 821, ?
(1) 1641 2) 820 (3) 1230 (4) 1440
30. XBW, RGQ, LLK, ?
(1) FQD (2) ESF (3) FQE (4) GQE
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31. From the given options pick the wrong term out.
125, 115, 103, 89, 74, 59, 40
(1) 103 (2) 59 (3) 40 4 74

32. 1,8,509,4,58,509,1,51,5,8,9,5, 4

In the given number series, how many times preceding 5 square numbers and
succeeding 5 cube numbers have occured?

(1) 4 times (2) 2 times (3) 5 times (4) 3 times

RIONIGOIOOIGOIOIGOIOOIGOIOOIODIOOIONIOH

33. Form a meaningful idiom from the letters

given in the figure and find its meaning T L
from the given options. C E
(1) Very rarely .

(2) Becoming nervous ElD

(3) Feeling ill
(4) An easy task

34. If the given alphabet series is written by reversing the order of letters, eighth
letter to the left of the middle letter will be at what place from left side?

(1) 21 (2) 20t (3) 5t 4) oth

35. In the word ‘INCOMPREHENSIBILITIES’, how many times the letter ‘I’ has
occured?

(1 5 2) 6 3) 4 4 7

36. From the given alphabet series, from each group only 15t 3" and 5t letters
are written and a new series is formed, then in that series which pair of letters
will occur at the same distance from the letter P.

(1) JW 2) MW (3) FY 4) HW

SPACE FOR ROUGH WORK
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ABCDE FGHIIJ KLMNO PQRST UVWXY

31.

32.

33.

34.

3s.

36.

BROFODY, BF) TE BOTRFCDROT SOD.
125, 115, 103, 89, 74, 59, 40
(1) 103 2) 59 (3) 40 4) 74

1, 8 5, 9, 4, 5, 8,5 9,1, 5 1, 5 8, 9, 5, 4
83 @oBRNIFANY, 5T 308 HRTWeo FRBS FNF Fosd, WPy 58 FoBT TRHEY
P FoL, WOLE, TMWTET BoTTR) AR, FeF 2oL ?

(1) 4 Je 2) 2 [e 3) 5 Je 4) 3 Je

WOOD LITNOOT TOIRTIMOE BEVOROL WFF TOIRFODAYOT SOD.
(1) R} W

e J)
2) W& Reerd R e
(3) W Degd 533 o
4) OR 353:55@#3 Q |xe

Q

383, 930 mcﬁodaa’% 3RO LTTHOT WL STORR SOTNTIT BT RSB
BOHT LFCT QBWHOI DOWHOL FTR) DBWHOWOT IFFOL BmRoFE 0
BQTITYTO?

(1) 21 SoH (2) 20 oD (3) 5 o 4) 6 So»

‘B oot [YIT TRRCOPD TIFTO WINTWY, DOTYO, B BHYE?’

85 BT WBETAL R)?

(1) 6 2) 4 3) 5 4 7

3083, BTRRAODYOT TEo3eomd NOo&T 18e, 33¢, 53¢ wITNLD wide FROTY,

WO BCIRTIE TRET @IT [IRSOPYODH P B3 @ITR0T IRNT o30S
RBoeATH @IONY pe® TOIRFONROT SO0,

(1) IW (2) MW 3) FY (4) HW

FeSO T2 FOTTN
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Q. 37 to Q. 39 Direction :

In the following rhythmic series which set will replace the question mark.
Observe the pattern and choose the correct alternatives.

37 2LY?2LLL?2ZL2LYZ?2LL
() LLZYL (@ LLYZL @3) LZLYL @4 LZYLL

3. 678285824523422321
(1) 7543 2) 3457 (3) 7453 4) 4573

39.  OAKO+kO?AO+AOKOO?A+
(1) + Ok 2) O+ % 3) O+ O 4 %00

Q. 40 to Q. 44 Direction :
From the given options pick the odd term out.

40. (1) Agartala (2) Aizwal (3) Imphal (4) Sikkim
41.

@ X + +

+ O ’ % Py DA o o O . < o DA P

O + ® X

(D ) 3) 4
42. (1) 100 (2) 252 (3) 392 (4) 576
Bow = @ o () o @ o

SPACE FOR ROUGH WORK
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ABCDE

FGHIIJ

KLMNO

PQRST

UVWXY

23S 37 00w 39 T [3SR :

$p8, ©obT, BoBED FRNE FIHRI, VIR, IcERoR> TIUTDH Y,

WTE cdper, MOoF) TOIRFODLOT SORD.
37. 788 713853 71§38 718837 ? 33

£ @

() 883338 (2 88388 (3 338838 (4 333333
8. 6782?2858 7245734722321
1) 7543 2) 3 457 3) 7453 4 4573
39. OoAkO+%O ? AO+AO ? 00O ? A+
(1) + 0O % ) O+ * 3) O+ O 4 ¥ 0O
AU I3 40 00T 44 T T4 ¢
nooLR 308 TW TOIREONYOT 300,
40. (1) =nd 3w (2) NWO (3) @Oz 4) %%ﬁﬁf
41.
® X + +
O VAN O A
P AU PN EIREIPAEIEN
O + o X
(1) (2) 3) 4)
42. (1) 100 (2) 252 (3) 392 4) 576
S 6 e 8
OET: @ 5 ) g @ 3

FeSO T2 FOTTN
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44. (1) CWF (2) DVI (3) FTL (4) GSN

45. Find the correct option to complete the question figure.
Question Figure: Answer Figures:

(1) (2) 3) (4)

Q. 46 and Q. 47 Direction :

Find exactly the same figure that matches with the question figure from the
options.

46.  Question Figure:

o

7

X

Answer Figures:

|| SR

QT | |

) ) )

(1) 2 3) “)

o

SPACE FOR ROUGH WORK
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44. (1) CWF (2) DVI (3) FTL (4) GSN

45, 39T B3 B8 FprarrievRen odeery TedRFoD OO
T3 SFIND - NUZT BTSN !

(1 ) 3) 4

TRLIN 46 OoT 47 T WTH ¢
BINT TIgert odnerN TOTROTON $TE TOIRFODNTOT SOD.

46. B3 wgen

5

QBT BTSN !

|| S

| QT | |

) ) )

(1) (2) 3) 4)

P

r B B F

FeSO T2 FOTTN
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47.  Question Figure:
[ |

Answer Figures:

(1) , (2) (31) o (‘(11)
48. In the given question figure, a paper after folding is cut as shaded part shown.

How will it look from the given answer figures after unfolding?

Question Figure:

Answer Figures:

H EH A A H BN

X3RS B
H B v,y H N
(1) ) (3) )

SPACE FOR ROUGH WORK
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7. 33 wganw :
[]

YUZT BTSN ¢
[ 1| L[| [ [

) @) &) @
48.  3INT T oNY, FTNTE R s PAR0E AYTY, 30 ITwn Wi
©%0 BCIRFCPTYED CINH $FB0D TRt TETRIRTO?

T3 SFINDO -

IIAALII

H B vV Vv rl ]
(1) (2) 3) 4)

FeSO T2 FOTTN
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49. From the alternatives, find the figure which is hidden in the question figure.
Question Figure:

Answer Figures:

() @) (3) @)

50. In the given table, in a code language symbols are used for the numbers.
Observe and find the symbols which will replace the question mark.

Numbers 0 1 2 3 4 5 6 7 8 9
Symbols | 1 | O |V [N | O | A | O] | A| @

From the given (.+A—$ﬁ’)v + (A)V+D—3ﬁ’ = 7
() N 2 O 3 A 4

Q. 51 and Q. 52 Direction :
In a certain code language, figures are replacing letters.

51.  AIR word is written as ACJ@, RAN word is written as @ /A M, TRY word is
written as O @ then how is the word TAN is written in this code language?

(1) *OO 2) OO 3) 6oANR 4 AcGH

52. From the given code figures which symbols can form meaningful words.
(Select 2 correct options.)

(1) ANEO 2) @A¥K (3) #AO (4) OO%

SPACE FOR ROUGH WORK
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9. Zmgecnhd wENHT ©FE TdRFODNPT $ORO.
33 w3an :

QBT STINLD ¢

(D) (2) 3) 4)

50.  39NT wPTURG w.omd AoTedes PTEDYUD WodNY FLATN WINY  WEB
BRTEOINT.
wosni® | 0 | 1 [ 2 | 3 | 4| 5|16 718109
T00FSCT 1O | VIN|IO|IA|IO|I | A @
z%@ﬁ%fo
TS, (@ + A - ﬁ’)v + (A)v +[-% = 7
(1 N 2 © 3) A 4 U

TR3N 51 w03 52 T W3R -
2,000 T0Be8eT PRODY, TR’ B3 Jey 4327, ‘©TW Qw0 321 R ‘W’

QT 152 &ert wITCI0TT.
51 ‘Zows’ 83 By Iert w3030

(1) 2815 (2) 5843 (3) 5812 4) 5814
52. 39N o0nE ToodedT WOoINYOT WHFEPRF 3w B03RTIMIYTO?

(oiraezjj NTB BOIIE 0N @6%@.)
(1) 243 (2) 251 (3) 242 4) 131

FeSO T2 FOTTN
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RIONIGOIOOIGOIOIGOIOOIGOIOOIODIOOIONIOH

5S.

53.

54.

John was standing on a ground facing south direction. He started walking
straight in the same direction and walked 29 metres. Then he turned to his
right at right angle and walked straight for 17 metres. Again he turned to his
right at right angle and walked 8 metres, in the end he turned to his left in
right angle and walked 11 metres. At what minimum distance is he from his
original place?

(1) 36 m. (2) 34 m. (3) 35 m. (4) 37 m.
Sachin and Rahul participated in the running competition. Sachin said,
“My place in the line is 19! and ahead to me Rahul is at 4" place.” Rahul
said, “I am 9™ from last.” From the given options find the correct statement.
(Select 2 correct alternatives.)

(1) 24 Participants are there in the competition.
(2) Sachin is 51 from the last.

(3) Rahul’s place is 161 in the line.

(4) Middle Participant’s place is 12th.

If in the year 2022 ‘Balika Divas’ falls on Monday, then in the same year
‘Kranti Day’ will be on which day?

(1) Monday (2) Tuesday (3) Sunday (4) Saturday

Q. 56 and Q. 57 Direction :

56.

In the given venn diagram, number of travellers of a city is given. Observe
the diagram and answer the questions given below.

Aeroplane Travellers— 17

/”‘ Bus Travellers
9
> 11 27

\21

How many travellers who travel by aeroplane are also travelling by bus ?
(1) 13 2) 4 3) 18 4 19

Railway Travellers

SPACE FOR ROUGH WORK
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53.

54.

2R WOTD WYTRTE, d%sa% ATFTON 29 QLT SBER F0BT WA ToUWBEREITE),
&TON *’d@ﬁmﬁ 17 200 333 W0Z WA TEIBREITE STON 86T 333>
B[ ABWAR To83BREITEA), STON 11 Q0030 ISTBTR, ES 9T MQ):)’#@od
BRI OWT eb%o 90333 doe@ QBOTO?

(1) 36 «oewdd  (2) 34 Qoewd (3) 35 &wewd (4) 37 &oewd

LIS BPFODNY, TWT F0BY TOBOW BWD RN IRTIBROBED, BWS 0TI,
“55 *o@ﬁ@cm %dnoé 19 “&d& ss 08 B meﬁoﬁod@mé " B
@od&b o érosobaocﬁ wowédoﬁaé’odd " OGRS @%ﬁﬁﬁa’m@@ oiraen’ SN wpr]
O3RT)T? (oﬁmeﬁ QTBY B/CIREFOD @m@)

(1) © IPFonY 2830, 24 IFFBOTT.

(2) BRIBCWOT PTIONT BWT AT

(3) ToOOT FOTYCL B[IN0T BLTITIOIT AT.
(4) DBNT IPFII ZWROT BITRIODW A3

AT 20220 ‘23008 O AReRITICHOWD oY Wit IRFT F080° 03w
0T WoRTOTI?

(1) Rrex0wm3 (2) Soonees (3) JNweT (4) 3T

B TI 56 w2 57 T IR -

56.

w@oﬁa [I° eﬁééoja@) 2,000 wéssacﬁ BEFTT o@S N B3RBOINS. =53 aéésa
IN®, ©TO %@ﬁd w@iﬁej ojraeﬁ em‘gfd wojjarojaﬁ@od ©300.

DRID @Oﬁfaﬁ%d} — 17 4

Ea WA BodmedEcd
9

S¢S, Bodmesscd \ 3

ORPB0T TR BT 2w, BRI wFRE Bid IRET?
(1) 13 2) 4 (3) 18 4) 19

eI ému FOTTN
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57. How many travellers are travelling by railway and not by aeroplane ?

(1) 21 2) 37 (3) 32 4) 46
58. If9 x 17 =49, 13 x 31 = 100, 12 x 18 = 81 then find 14 x 4 = ?
(1) 81 2) 64 (3) 121 4) 100

Q. 59 to Q. 63 Direction :
There exists a certain relationship between 15t and 2™ term.
The same relationship exists between the 3™ and 4™ term. Considering this
select the alternative to replace the question mark.

59. Malgudi Days : R.K. Narayan :: Broken Wings : ?

(1) APJ Abdul Kalam (2) Arundhati Roy
(3) Sarojini Naidu (4) Vikram Seth
60. National Voters Day : 251 January :: Constitution Day : ?
(1) 26% November (2) 251 December
(3) 30™ January (4) 26" January
61.  Question Figures:
AN +
] L]
0w E—al @ ] 92
v
3 -

Answer Figures:

ésﬁ.. 7y +;+ +i+

(1) (2) (3) 4)

SPACE FOR ROUGH WORK
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57. 39008 B3 IRBRD 9T HRRTO0T BT IR0, VI TS

DR)?

(1) 21 (2) 37 (3) 32 (4) 46
S8, 2.0 e, 9x17=49, 13x31=100, 12x18=81 Tomd3, 14x4="7

(1) 81 (2) 64 3) 121 (4) 100

w3 59 00T 63 S TIA -

BRTOSCD TEW HTREF3 BTTE BT FOWOTRE WURTHOD THH TPOIOD TR,
QIO 0LITR), ©TRY, BRTWEROR TBIWFEd FFTY, 23| cdwery LT3

POSF O SORD.
59.  SRRORONROTES : WAREY, 11 WI WYFPWIFT : 9

(1) 2@3@5& (2) ©9Ted (3) e%gpmde@ (CYREapEiSlovs)
60. TR0 D080 AT : 25 IFO 1 oD AT ¢ ?

(1) 26 Sgowor  (2) 25 @Fowo®  (3) 30 wSBO  (4) 26 B0
61. 23 wgen :
N +
S VI ™ Al @l ] 92
* -
QBT SFIND !

%ﬁ'Q Sy :;+ +i;

(1 ) ) 4)
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62. 963 : 144 :: 842 : ?
(Select 2 correct alternatives.)

(1) 64 2) 78 (3) 112 4) 50

63. LOH : PMT :: ITJ : ?
(1) RSH (2) SHR (3) SIR (4) SHT

64. Find the mirror image of the question figure from the given options.

Question Figures: Answer Figures:

3l GR 6 & Cn il B &

92 5o (1| ol o)
(1) (2) 3) 4)

Q. 65 and Q. 66 Direction :

Find the water image of the question figure from the given options.

65. Question Figures: Answer Figures:
S ) 0y |20,
S B3] [l 7 |3y
(1) (2) 3) 4)

SPACE FOR ROUGH WORK
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62. 963 : 144 :: 842 : ?
(oi@er{ag DV TOTIECID es@%@.)
(1) 64 @) 78 (3) 112 4) 50

63. LOH : PMT :: ITJ : ?
(1) RSH (2) SHR (3) SIR (4) SHT

64. 39T BB RoDY, FFROPALD BEWOUTT), FOIRFODNPOT SORO.

TGS UUZT SFIND
30| Bl Bl Bl B
(1) ) 3) 4)
AR TB 65 WO 66 T LN
BINT TITB0H BWOTEWOL) TSR ODNLOT SORD.
65. Zmgs 0TS gD :
SN ) 20 |20,
& (B3] [ 7 [
(1) ) 3) (4)
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66.  Question Figure:

o T
i Q@ - @

Q. 67 to Q. 69 Direction :
Observe the following pyramid. Study the arrangement of numbers and find
the correct alternative to replace the question mark.
13
41 52
11 26 29
48 50 14 18
31 27 49 33 15
21 58 34 28 36 16
17 20 24 30 35 32 19
25 10 37 43 23 39 56 60

67. 50485827 : 14183633 :: 26112750 : ?
(1) 29264914 (2) 26293349 (3) 26293314 (4) 26294933

68. 31175834 : 15193628 :: 21252024 : ? (Select 2 correct alternatives.)
(1) 36563530 (2) 16603235 (3) 16603236 (4) 36563528

SPACE FOR ROUGH WORK
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@@ @8 D@

(1) 2) €) (4)
Beds BB 67 0o 69 S =3I -
BINT IR0 A0BE BRE WPRIYD Wodnd DdormaDd Boedord BY
WHOD FFTY, WIXT cdpery TOIRE O SORD.
| 13
41 52
11 26 29
48 50 14 18
31 27 49 33 15
21 58 34 28 36 16
17 20 24 30 35 32 19
25 10 37 43 23 39 56 60

67. 50485827 : 14183633 :: 26112750 : ?
(1) 29264914 (2) 26293349 (3) 26293314 (4) 26294933

68. 31175834 : 15193628 :: 21252024 : ? (od@en, TR HoIBEOL ©ORO.)
(1) 36563530  (2) 16603235  (3) 16603236 (4) 36563528
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69. 41503448 : 52142818 :: ? : 29333515
(1) 11272431 (2) 11272449 (3) 11272458 (4) 11272434

70.  The ratio of the ages of Sameer, Raghav and Aamir today is 7 : 5 : 3. Sameer
is older than Aamir by 12 years, then what is the present age of Raghav ?

(1) 12 yrs. (2) 21 yrs. 3) 9 yrs. (4) 15 yrs.

71.  Below given four cubes are showing the different faces of the same cube.
There are numbers from 1 to 6 written on its surfaces. Find the incorrect pair
of numbers on the adjacent faces.

6 4 1 3

(1) 2 and 4 (2) 6 and 1 (3) 2 and 5 (4) 5 and 3

72.  Two statements and two inferences are given below. Read them and select the

correct alternative. (Select 2 correct alternatives.)
Statements: 1) All pens are copies.

2) Few books are pens.
Inferences: A) Few books are copies.

B) Few copies are not books.

(1) A is incorrect (2) B is correct

(3) A is correct (4) B is incorrect

SPACE FOR ROUGH WORK
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69.

70.

71.

72.

41503448 : 52142818 :: 7 : 29333515
(1) 11272431 (2) 11272449 (3) 11272458 4) 11272434

BT, TP 3BY BT YT DONT WODIT MOBREZT I50Fm=0zoN 7:5:3
Lot 2. B0eS a8 @aVeSIN0Z 12 TR TBABRITT, TGS TR
Q00T WO, HF?

(1) 12 IRF 2) 21 SR 3) 9 ==F 4) 15 SAF

3SNI QRIOM] PN .08 PIT NG WANVTY, INY Boed 1 00T 6 ORI
WBODLONT. TIMTT BIND FHREYOID @osne ), el BRYTO?

6 4 1 3

1) 2 D4 (2 6 A1 () 2RSS @) 5 2R3

I ATE QPIFNE WD) ATE LJORNRING BRTBERND. ©YNS &0eDoT
oifaeﬁaS DOIREOTD e300. (oiraeﬁZS DT BOITE O3OND e.-saf%@.)

QDPIDNLD -

—_

(1) a2 TIND TENENI.
(2) é@@ BRI FRoRweNcozEs.

BOTORNT
(22) 30y RAIND BBNFNTOTS.
(v) 3o%) BLnDd IR,
(1) ‘& o33 2) ‘W =g
3) ‘& 3 4) ‘W eIz
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73.  Choose the correct option to replace the question mark.

6 5 8 11

(1) 225 (2) 251 (3) 275 4) 224

74.  Find the number to replace the question
mark after identifying the rule in number 327 W8 S
arrangement. (Select 2 correct alternatives.

8 ( ) V125 | 364 | 9

V1331 | 3/512 ?

(1) 356 2) 19 (3) 18 4) 57

75. How many triangles are there
in the given figure ?
(1) 26 (2) 25
(3) 16 4) 20

SPACE FOR ROUGH WORK
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B3 ?55;73 T3 74 T =WIA :
3PN @%@ﬁ@ﬁ@pﬁg m’o@%mf WOTEIOR ART, MOTISY @% 23 o{oﬁa sz%fcj@q 22303
oiraerg DOIREOTD e300.

73. 6 5 8 11
(1) 225 2) 251 3) 275 4) 224
74.
V27 | W8 | S

3/125 | 3/64 9 (oiraeriS Q0B TOIREFODNLD $00.)
31331 | ¥/512 ?

(1) 56 2) 19 3) 18 4) 57

75, 39NT SBBODY R, GeBReand 97
(1) 26 2) 25
3) 16 4) 20

FeSO T2 FOTTN

0822-Kannada Set-A 31 of 32 P.T.O.



B[O T FOTTN

0822-Kannada Set-A

32 0f 32




